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I [30 |x 6e |IIpenmpuHumarensckuit |1 5 5 5 4 0,6 |19,6 [aunciauTh B MpeaIpUHUMATENBCKUI KiIace
2 133 |m 6e |IIpenmpuHumarensckuit |1 5 5 5 1 2 0,15 | 18,15 Bauncnute B npeanpuHAMATENbCKUII KiIace
3 140 |x 6e |IIpeanpunumarenbckuil |1 5 5 5 1 0,85 (16,85 [3auncnute B npeJIpUHUMATENBCKUNA KIIACC
4 |76 |x 6m  |[Ipeanpunumarensckuit |1 4,775 14,5 |5 1 0,55 (15,8 [BaumcnuTe B npeqIpUHUMATENBCKUNA KIIAcC
5 129 |x 6e |IIpeanpunumarenbckuil |1 4,75 |5 5 0,4 |[15,15[auucnute B npeJIpUHUMATENbCKUNA KIIACC
6 (34 |x 6e |IIpenmpuHumarensckuit |1 5 5 5 15 PBauuciauTh B MpEANPUHUMATEIBCKUN KITacc
7 122 |m 6e |IIpeampuHumarensckuit |1 4 4 4,36 1 0,95 | 14,31 BauncnuTs B NpeAIpUHAMATEIBCKUIT KJIace
8 (39 |x 6e |IIpenmpuHumarensckuit |1 4 4,25 (4,86 1 14,11 BauncaUTh B IpEANPUHUMATEIBCKUN KITacc
9 [149 |x 6r |IlpenmpuHumarensckuit |1 4,25 (4,25 14,79 0,6 13,89 [3auncnuts B npeqnpUHIMATENbCKUI KlIacC
10 {24 |x 6e |IIpenmpuHumarensckuii |1 3,75 |4 4,57 1 0,4 |13,72[3auncnuts B NpeJIpUHIUMATENLCKUI Kllace
1T |42 |x 6e |IIpenmpuHumarensckuit |1 4,25 |4 4,79 0,1 0,55 |13,69 3auncnuts B npeqnpUHUMATENbCKUI Ki1ace
12 |124 |m 6B |[Ipenmpuaumarenbckuii |1 4 3,75 14,29 1 0,4 |[13,44Bauucnuth B IpeNIPUHAMATEILCKANA KIIACC
13 |43 |m 6e |IIpenmpuHuMarensckuii |1 4 4,75 (4,64 13,39 BauncauTh B IpEANPUHAMATEIBCKUAN KITacc
14 125 |m 6e |IIpenmpuHuMarensckuii |1 4,75 |4 4,43 13,18 BauncauTh B IpeANIPUHAMATEIBCKAN KITacc
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15 (32 |x 6e [IpeanpuaumMareabckuii | 1 4 4 4,71 12,71 BauuciauTh B IpeaIpUHUMATEIBCKHUI KIIacc
peanp pearp
16 35 |x 6e |IIpenmpuHumarensckuit |1 4 4 4,64 12,64 [3auncauTh B IpeANPUHUMATEIBCKUN KIacc
17 131 |m 6e |IIpeanpunumarenbckuil |1 4 4 4,5 12,5 BauucauTh B NpeANpPUHUMATEIbCKUHN Kiacc
18 120 |x 6m  |[IpeanpuHumarenbckui |2 3,75 |4 4,36 0,3 (12,41 [3auucaute B NpeJIpUHUMATENBCKUNA KIIACC
19 127 |x 6e |IIpeanpunumarenbckuil |1 3,5 |4 4,29 0,6 (12,39 [3auncnute B npeJIpUHUMATENbCKUNA KIIACC
20 |28 |x 6e |IIpenmpuHumarensckuit |1 3,75 |4 4,5 12,25 j3BauncauTh B IpeANPUHUMATENIBCKUN KITacc
21 |41 |m 6e |IIpeampuHumarensckuit |1 4 4 4,21 12,21 BayncauTh B IpeANPUHUMATEIBCKUN KITacc
22 (37 |m 6e |[IpenmpuHUMaTenbckuil |1 4,25 (3,5 (4,36 12,11 BagucauTh B MpeANPUHUMATEIBCKUN KIacc
23 |36 |m 6e |IIpenmpuHumarensckuit |1 3,75 |4 4,14 11,89 j3auncnuTh B NpeANPUHUMATENIBCKUN KI1acC
24 1102 (m 68  |IIpeampuHUMAaTeNnbCKun |2 3,5 |3 4,07 0,3 |10,87 [3auncnuts B NpegIpUHUMATENbCKUI Kllace
25 |44 |m 6e |IIpenmpuHumarensckuit |1 3,25 |3 4 10,25 j3auncnuTh B IpeANPUHUMATENIBCKUN KI1acC
26 |38 |m 6e |IIpenmpuHuMarenbckuid |1 3 3,25 13,79 10,04 BaurcauTh B IpEANPUHAMATEIBCKUAN KITacc
27 |21 |m 6e |IIpenmpuHuMarensckuii |1 3 3 4 10 BayuciaUTh B IPEANPUHUMATEIBCKAN KITacc
28 23 |m 6e |IIpenmpuHuMarensckuii |1 3 3 3,93 9,93 BauncnauTh B MpeNpUHAMATENBCKUI KiIace
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29 |75 |[x 6m  |[IpeampuHUMaTenbCKuid |2 475 |4 493 0,1 |1 1,5 10,55 (16,83
30 [136 |x 6a |IIpeampuHUMaTeNnbCKUN |2 5 5 5 1 0,55 116,55
31 |81 [x 68 |[IpeanpuHumarenbckui |2 3,775 |4 4,5 1 2 1,2 (16,45
32 195 |m 6x |IIpeanpuHuMarenbckui |2 45 145 |5 1 0,75 15,75
33 (144 |x 6a |IIpeanmpuHuMarenbckui |2 4,75 14,5 14,93 0,8 14,98
34 (127 |x 6r |IIpeampuHUMaTENbCKUN |2 5 4,25 (4,86 14,11
35 (129 |x 6r |[IpeampuHUMaTENbCKUN |2 4,25 (4 4,79 1 14,04
36 (47 |m 6e |[IpeampuHUMAaTEIbCKUN |2 4 4 4,36 1 0,35 | 13,71
37 132 |x 6a |IIpeampuHUMAaTeNnbCKun |2 4,25 |4 4,7 0,7 13,65
38 |137 |m 6a |IIpeampuHUMAaTeNnbCKUn |2 3,25 |3 4 1 1,5 (0,5 13,25
39 145 |x 6e |IIpeampuHUMAaTENnbCKUN |2 4,5 (3,5 |4,64 12,64
40 (46 |[x 6e |[IpenmpuHUMATETHCKUN |2 4 4 4,5 12,5
41 |130 [x 6a |IlpeampuHHUMAaTeNnbCKAN |2 4 4 4,43 12,43
42 |15 [m 6n |[IpeampuHUMaTETbCKUN |2 4,25 |3 4,14 0,15 |11,54
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